Quiz #1

Calculus I — Math 161.001 — Spring 2012

Name:

3

1. %ts) Suppose f is an even function and ¢ is an odd function.
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2. (3 pts) The half-life of a radioactive substance is 12 hours. There are 6 grams present initially. =
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e Express the amount of substance remaining as s function of time ¢.

e When will there be 1 gram remaining?
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3. (2pts) Explain why the curve y = ze® + 2 does not represent a one-to-one function f on R,
then give a restricted domain on which it is one-to-one. Finally, sketch a graph of f~1.
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4. (3pts) Sketch a picture of a function f with domain (1,2) and range {—00,3) U[5,00). Then,
sketch a picture of 2f(z —1) — 1.
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